Name:__________________________
[bookmark: _GoBack]Sine and Cosine Rule Homework

[image: ]

[image: ]




	








[image: ][image: ]
















[image: ][image: ]












[image: ]
[image: ]
	
image6.png
[Maximum mark: 7]

There is a vertical tower TA of height 36 m at the base A of a hill. A straight
path goes up the hill from A to a point U. This information is represented by the
following diagram.

36m

The path makes a 4° angle with the horizontal.
The point U on the path is 25 m away from the base of the tower.
The top of the tower is fixed to U by a wire of length x m.

(2) Complete the diagram, showing clearly all the information above. [3 marks]

(b) Find x. [4 marks]
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8. [Maximum mark: 14]
The diagram shows a circle of radius 8 metres. The points ABCD lic on the
circumference of the circle.

D

BC=14m, CD=11.5m, AD =8 m. ADC=104" and BCD=73"
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Find AC.
@) Find ACD.
(i) Hence. find ACB.

Find the arca of triangle ADC.

Hence or otherwise. find the total area of the shaded regions.

[3 marks]

[5 marks]
[2 marks]

[4 marks]
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[Maximum mark: 6]
The following diagram shows triangle ABC.

B diagram not to scale

100",

AB=6cm. BC=10cm, and ABC=100".
(a) FindAC. el

(b) Find BCA. 6]
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3.

[Maximum mark: 6]

The following diagram shows a triangle ABC.

C

x diagram
not to scale

50"
A 18 B

The area of triangle ABC is 80 cm?, AB=18 em, AC=x em and BAC =50"
(a) Findx.

(b) Find BC

[3 marks]

[3 marks]
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